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Roots of polynomials 4D

1 a a+p=4, off=3
1,1 _a+p

aﬂ_aﬂ

4
3
b &?f2=(af) =32 =9

c o+ p=(a+p) -2a8
— 47 -2(3)
=10

d &+ =(a+p) -3ap(a+p)
~4-3(3)(4)

=64-36
=28
—_2 ,p3=3
2 a a+pf= 3,aﬂ 4
1,1_a+f_-5_ 8
a p af % 9

c a2+,82=(0(+ﬂ) —2apf
_(_2)_ (3)
_( 3) 2\2
4 6__38__19
9 4 36 18

3a a+ﬂ=%,aﬂ=—%

(a+2)(p+2)=af+2(a+p)+4
=—%+2(%)+4

_37
6

3 b (a—4)(B-4)=af—4(a+p)+16

__1_4(5
=73 4(4)+16
_32

3

a2+ﬂ2=(a+ﬂ) —2af
—52—(-%
_(4) "3
_25,2_107
16 3 48
So
252 (24 g2\ a1 1,107 1 _ 481
a’f +(a +0 )+1—9+ 5 +1 144

4 a a+pf+y=2,af+py+ya=-3

and afy =4

1.1 1 _of+fr+ra_ 3

a By afy 4
b o+ p°+y°

=(a+,8+;/)2—2(a,8+,87/—;/a)

=22-2(-3)

=10

c a+p+y°
= (0{+[J»’+7/)3
=3(a+p+y)(af+pPy+ya)
+3afy
=2°-3(2)(-3)+3(4)
=8+18+12=38
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4 d (a,B+ﬁ;/+7a)2 5 ¢ a*+p+)°
=(ap+ Py +ra)(af+ By +ya) =(a+p+7)
=(aﬂ)2 +0‘,527+0!2,87/+a,82;/+(ﬁ7/)2 =3(a+p+y)(af+pPy+ra)
2 2 2 2 3a’,87/
+afy° +a” Py +afy +(}/a) i 3
2 2 2 = -3 3
=(aﬂ) +(ﬂ;/) +(7a) (Zsa) (Z“)(Z“@* apfy
+2(a2,87+aﬁ’27/+a,87/2) =(%) —3(% (—%)+3(%)
=(ap) +(Br) +(ra) =%:+6+%=%
+20fy (a+f+7)
Hence: 33, 3 3 (1Y _1
d = (L) =1
(af+ Py +ya) @ py =(apy) (2) 8
=(aB) +(Pr) +(ra) 6 a a+ﬂ+7=—%,aﬂ+ﬂ}/+ya=%
+2afy(a+pB+y)
So: and aﬂy:—%
(ap) +(Br) +(ra) (a+2)(8+2)(r+2)
=(05,3+ﬂ7+70!)2 =afy+2(af+ay+pBr)
—2a,87(a+,8+7) +4(a+ﬂ+7)+8
_(_2)\’ _ _[_ 2 3 1
SEALE o 3
_ __2.3 _ 7
:_7 ——§+§—2+8—E.
5a Ya=3Yaf=-5 and afy -1 b (a—3)(8-3)(y-3)
1.1.1_%op_(-%)_ 8 = afly =3(ap+ay+py)
a B ?_a—ﬂy_@__ﬁ +9(a+pB+y)-27
_(_2 3 1
b =(-8)-3(3)+ol-3)-2
2 p2, 2 2_ __2_9.9 __683
a’+ 2 +yi=(a+B+7) __5_2_5_27_ L
2(af+ By +ya)
(S -2z eh) ¢ (a)a-p)i-)
_(3)2 2(-4) =1-(a+B+y)+(ap+ay+py)-aby
\2) U8 _(—1)(3)_(-2
9,8_59 =1-(-3)+(3)-(-3)
4 3 12 _1.1,3,2_ 53
=t at5 20
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=(app+ By +ya)(af+ pr+ya)

=(ap) +apy+a* By +apiy+(Br)

+afy’ +a’ fy +afy? +(7/a)2
=(ap) +(By) +(ra)
+2(a2,87+aﬁ27/+a,87/2)
=(ap) +(Br) +(ra)
+20fy (a+f+7)
Hence:
(aﬂ+ﬂy+ya)2
=(ap) +(fr) +(ra)
+2afy (a+f+7)
So:
(aB) +(By) +(ra)
=(aﬂ+ﬁ7+}/a)2 —20{,By(a+ﬂ+7/)
_(3Y 2\(_1
=(3) -2(-2)(-3)

9_2

16 5

_45 32

~ 80 80
13

80
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6 d (a,B+ﬁ;/+7a)2

(afp+ Br+ ya)g
= (aﬁ+ﬂ}/ + 7a)(a,B + Ly + 7/0()2
(aB) +(Br)
=(af+ Py +ya) +(7a)2
+2afy(a+p+y)
=(aB) +(Br) +(ra)
+affyt + o’ By’ + 20 By (a+ B+y)
+a2ﬂ3y +a2ﬂ7/3 + Zaﬂzyz (a + [+ 7/)
+a3ﬂ27/ +a,82)/3 + Zazﬂyz (a + [+ 7/)
=(aB) +(Br) +(ra)
+2a3,6’;/2 + 2a2,837/ + 2a2ﬂ27/2
+2a'2,8272 + 205,83}/2 + 20(,82;/3
+2a3ﬂ72 + 2a2ﬂ27/2 + 2a’2,b’7/3
=(aB) +(By) +(ra) +6(apy)
+3a? By +3aB%y* +3a%y°
+3a3ﬂ2y+3a3ﬂy2 +3a2ﬂ;/3
=(ap) +(By) +(ya) +6(apy)
3y ﬁy(aﬂz ++ Py j
+a’f+a’y +ay’
=(apB) +(By) +(ya) +6(apy)
a(ﬁz +y2)
+3afy +,B(a2 +7/2)
+7/(052 +ﬂ2)
However:
(a+ﬂ+7)(a,8+ﬂ7+ya)
=a’B+a’y+aff’
+ By + By +ay® +3afy
=a(B*+7")+B(a’ +77)
+7(a® + B2 )+3apy
So
oc(ﬁ2 +y°
3afy +ﬂ(a2 +y2)
+;/((x2 +ﬂ2)
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(a+ﬂ+}/)>< 8 b a?+p+y+06°= (Za)z—Z(Za,B)
6 e =3afy|(af+py+ra) =(l)2_2(_§)
-3afy 2 4
There:ore 3 3 :%+%=%
(@B) +(Br) +(ra)
= 3—6 2 303,303 3_43_64
=(ap+ Py +ya) —6(apy) ¢ &5 =(apys) _(5) =52
(a+ﬂ+7/)><
-3afy ((xﬂ+ﬂ}/+ya) d (aﬁ+ﬂ}/+7a+}/5+a5+ﬂ5)2
—3afy =(aB+ By +ya+yS+ad+ pS)x
:(§)3—6(—2)2 (aB+Pr+ya+ys+ad+ps)
ORI —a*f+affy vy
282
=g_g+§(g) +af’y+ By’ +apy’
64 25 5\40 +B5y° +afys + By
27 _24 . 99
=64 " 25 100 +a’ By +afy’ +a’y?
_ 675 1536 1584 +ay’S+a’ys +afyd
~ 1600 +7°0% + ayd’ + Byd?
11 1 1 +a’BS +afys +a’ys
7 a Z+E+;+g +ays’ +a’S’ +afs’
+aff’s + B2yS +afys
_ afy + Byo + yoa + oafp +,6’752+a,852+,8252
afyo 2 2 2 2
a, (@) + (8 (o) + )
T2 +(a8) +(B5) +6apys
b o+ 412+ 657 +a’ By +a’fS+a’ Py
2 +a’yS+a’ S +atys
=(0!+,3+7/+5) +aff’y +af’s +af’y
—2(af+ay+ad+ By +BS+y5) , , )
» +L°yo+affO+ Byo
=(3)"-2(5)=9-10=-1. Lafy raBy +ay’s
¢ a'Blyist = (aﬁ75) ( 2)4 _16 +Py*5 +ay’s+ poy?
' +a iS5’ + fyo’ + ays?
ZOW (_%) 3 +afo’ + prd’ +ays’

ga Ly,
a f 75 ape (3 2
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8 d =(af) +(By) +(ar) +(y5)

+(a8) +(B5) +6apys
20’ By +20° S + 20y
af’y +2af’S + 2B y5
afy’ +2ay* 5+ 2815
R2afS% + 2ay5* + 2 fyS°
However:
(a+B+y+8)(afy +aBs+ays+ Bys)
=a’By+a’Bo+a’ys
+af’y +afffS+ Bryd
+afy’ +ay’S+ py°o
+afiS’ +ayd’ + Byd’ +4afyd

So
(af+ By +ya+y5+as+ p5)
=(app) +(By) +(ar) +(56)
+(as) +(BS) +6apys
+2(a+ﬂ j[aﬂ7+aﬂ5 J
+y+0 )\ +ayo + pyo
—80,855
So:
(o) +(By) +(ar)
+(78) +(as) +(p5)’
=(aﬂ+ﬂy+ya+y5+a5+ﬂ5)2
+2ay0

P a+pf \ afy+apfd
+y+0 )\ +ayo + pyd

!

167375
_135, 640, 48
240 " 240 " 240
_823

240

+
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(afy +affs +ays + Brs )2
=(afy +afs+ays + Byd)
x(afy +afs +ays + ByS)
= (aﬂy)z + azﬂzyé' + azﬂyzé’ + aﬂ2y25
+&? B8 +(afis) +a? s + afftys?
+a’ fyPo +al pys? +(a75)2 +afy’s’
+aff?y2S + affy8? + afy* St + (s )
= (O:ﬂy)2 +(0¢,b’5)2 +(a75)2 +(ﬂ75)2
(aﬂ+a7+ﬂ7/+aﬂ+a5+ﬂ5j
+afyo
+ay+ad+yo+ Py + po+yo
So (afy +aps +ays + prs)’
= (aﬂy)z +(aﬂ5)2 +(a7/5)2 +(ﬂ7/5)2
+2afy5(aff+ay +as+ Py + BS+y5)
Hence
(ozﬂy)2 +(oz,b’5)2 +(a75)2 +(,87/5)2
= (0{,87/ +afid +ayo + ﬁ;/é')z
205 (aff+ay +as+ Py + BS+y5)
_(_1Y _o(4)(_3
-(-3) -2(3)(-3)

~1,,_51

- 25 25

(a+1)(B+1)(y+1)(5+1)
=afyS+(a+p+y+5)
+(aB+ay+ad+ Py +BS+y5)
+(afy +afs+ays+ fyS)+1
SREE
_23
12
(2-a)(2-B)(2-7)(2-9)
=16-8(a+f+y+9)
+A(af+ay+ad+ Py + LS+y5)
—2(afy +afs+ays + pys)+afys

o 3 3) o)
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10a

11a

X} —6x2+9x—15=0
So a=1b=-6,c=9 and d =-15.

__b_
a+p+y= 3 6
aﬁ+,8y+}/a=g=9

aﬂy=—%=15

a By ofy 15

a’+ B +y? =(a+,8+7)2—
2(af+ By +ya)
=(6)" —2(9)=18

i (a-1)(5-1)(r-1)
=afly —(af + Py +ya)

+(a+pB+7)-1
=15-9+6-1=11.

2x° +4x* +7=0
Soa=2b=4,c=0and d=7.

a+ﬁ+7/:—g:—2

aff+ By +ya=5=0

a
__d__7
aﬁ}/_ a 2
i P+ B+

(a+B+7) —2(cf+By+ra)
(-2) ~2(0)
4

i apy =(apy) =(-5) -3

i (a+2)(B8+2)(r+2)
=afy+4(a+L+y)
+2(afp+ By +ya)+8
_ T4 1
= 2+4( 2)+2(0)+8= 5

1. 1. 1 of+hrrra_9 :g

E(a+ﬂ+y)(

3

a’+ B+ y?

+2(aﬂ+ﬂy+ya)}

=a’+p°+y
+a(/5’2 +7/2)+ﬂ(a2 +72)+;/(a2 +[32)
+2(a+B+y)(af+pBr+ra)

Calculate (a+B+y)(af+pPy+ya) :

(a+ﬂ+;/)(a,8+ﬁ7+7/a)

=a’f+ fa+a’y

+7%a+ By +y° B +3afy

Ea(ﬂz +7/2)+ﬂ(a2 +y2)

+7/(a2 +ﬂ2)+3a,b’7

So:

(oe+ﬂ’+;/)3

=’ + 2 +y°

+3(a+p+y)(af+ Py +ya)-3afy

Therefore

al+ g+t

E(a+ﬁ+7/)3

—3(a+pB+y)(af+ By +ya)+3afy

13a 3x°—px+11=0
So a=3,b=0,c=-p and d =11.

_c__DP
aﬁ+,B;/+ya—a 3

But o+ By +ya=4
So —§=4= p=-12

¢ (3-2)(3-5)(3-7)
=27-9(a+pB+y)+3(af+ fr+ya)
—affy

=27—9(0)+3(4)—(—%)

_ 11_128
=27+12+ 3 3
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1l4a x*+2x*—x+3=0 16 (S a) =(a+f+ 2
= y+o
So a=1b=0,c=2d=-1and e=3. (Z ) _( 2, p2 2 )52
Zaz_hzo =a"+p°+y +
a +2(afp+ Py +y5+ay+ o +ad)
S ap _C_» Therefore:
a a+ P+ + 8
Zaﬂ7=—g=1 ?
a E(Za) —2(af+pBr+yS+ay+pS+ad)
ofys===3
1,1,1,1_Xafy 1
b i a+ﬂ+y+5_ apys 3

(Ze) -2(Zap)

=0 —2(2)=—4

iii (a+1)(B+1)(y+1)(5+1)
= afys +(afy +afs +ays + Brd)
+(af+ay+ad+ By + PS5+ y5)
+(a+pB+y+06)+1
=3+1+2+0+1=7
15a ax*+3x*+2x° +x—-6=0

So a=a,b=3,c=2,d=1and e=-6.
afyo =-3
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